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Ci-ty side-walks, bus-y side-walks,dressedin hol - i - day style; inthe air, there's a feel-ing of
street-lights__ e-ven stop lights__blink a bright red andn green, asthe shop - persrushhome with their
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Christ-mas. Chil-dren laugh - ing, peo-ple pass - ing meet-ing smile af-ter smile. And on
treas-ures.____ Hear the snow curnch! See the kids bunch! This is San - ta's big scene. And a-
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ev -ty street cor - ner you hear
bove all this bus - tle you hear. arco
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Sil - ver bells, sil - ver bells,
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Sil - wver bells, sil - wver bells,
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